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QUESTION NO: 1

Presenting a user with a logical space for storing data and mapping this to the physical location where it is stored allows 
many systems to share the same storage device.

What is this called?

A. Dynamic scaling

B. Load balancing

C. Managed services

D. Storage virtualization

ANSWER: D 

QUESTION NO: 2

What describes a serious drawback in the early development of networks?

A. Computers were dedicated to one function. 

B. Computers were too complicated to be connected.

C. There was low network speed.

D. Vendors developed their own network communication protocols.

ANSWER: D 

QUESTION NO: 3

What is not a staffing benefit of Cloud computing?

A. Fewer IT-staff 

B. Lower employee benefits 

C. Lower recruitment costs 

D. Lower self-service costs

ANSWER: D 
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QUESTION NO: 4

In evaluating a Cloud service provider and as part of a proper governance framework, what is required for compliance?

A. Exception reports

B. Management reviews

C. Performance reports

D. Statement on Auditing Standards

ANSWER: D 

QUESTION NO: 5

What is the single point of truth in a Claim-based identity management solution?

A. the cloud application

B. the Hypervisor

C. the identity provider

D. the server hosting the application

ANSWER: C 

QUESTION NO: 6

What is not a key characteristic of multipurpose architecture?

A. Multi-tiered

B. Open standards

C. Security

D. Server virtualization

ANSWER: C 

QUESTION NO: 7

What is an important environment related benefit of Cloud?

A. fewer requirements for power capabilities

B. highly protected data
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C. independency from the Internet

D. small bandwidth

ANSWER: A 

QUESTION NO: 8

Why is text messaging in automobiles outlawed in many countries?

A. for financial reasons

B. for safety reasons

C. for security reasons

D. for synchronization reasons

ANSWER: B 

QUESTION NO: 9

What is an example of the implementation of federation?

A. driver's license

B. fingerprint

C. information card

D. iris scan

ANSWER: C 

QUESTION NO: 10

What is one of the main risks associated with using Cloud solutions?

A. Bankruptcy of the Cloud provider

B. Constant updates to Cloud applications

C. Having to use a password to access Cloud applications and then losing it.

D. Having no direct access to applications or infrastructure in case of an incident.

ANSWER: D 
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